Phys SER Lectures 9-10 Symmetries and conservation laws

Symmetry operations (transformations)

A symmetry operation is a map  $M: |\psi\rangle \rightarrow M(|\psi\rangle) \equiv |\psi'\rangle$ from normalized vectors to normalized vectors that satisfies

$$|\langle \phi'| \langle \psi' \rangle| = |\langle \phi| \langle \psi \rangle|$$
 an isometry

for all normalized vectors 12/22 and 102.

Wigner's theorem. Given a symmetry operation 
$$\mathcal{M}_{j}$$
  
there exists a unitary or anti-unitary operator  $\mathcal{M}_{j}$   
(defined on all of Hilbert space) that agrees with  
 $\mathcal{M}_{j}$  up to a phase, i.e.,  
 $\mathcal{U}_{j}$  =  $e^{i\alpha(12\mu)}\mathcal{M}_{j}(12\mu)$ .

Antilinear operators  
An antilinear operator 
$$\mathcal{K}: |\mathcal{H}\rangle \rightarrow \mathcal{K}|\mathcal{H}\rangle$$
 acts on linear  
combinations according to

$$\mathcal{K}(c,|\psi\rangle + c_{z}|\psi_{z}\rangle) = c_{z}^{*} \mathcal{K}|\psi\rangle + c_{z}^{*} \mathcal{K}|\psi_{z}\rangle$$

Froducts: A product of linear and antilinear operators is linear (antilinear) if the number of antilinear operators in the product is even (odd).

Left action: 
$$(\langle \psi | \mathcal{K} \rangle) \langle \psi \rangle = [\langle \psi | (\mathcal{K} | \psi \rangle)]^*$$
  

$$\implies (\langle \psi | \mathcal{K} \rangle) \mathcal{K} = c_j \langle \psi \rangle \mathcal{K} + c_2 \langle \psi_2 \rangle \mathcal{K}$$

$$\implies (\langle \psi | \mathcal{K} \rangle) \mathcal{K} = c_j \langle \psi \rangle \mathcal{K} + c_2 \langle \psi_2 \rangle \mathcal{K}$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) = \langle \psi | (\mathcal{K} | \psi \rangle)$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K}$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K}$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K}$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K}$$

$$= \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K} + \langle \psi | (\mathcal{K} | \psi \rangle) \mathcal{K}$$

Given an orthonormal basis lej), we can always define a linear operator A that acts the same as R on the basis

Nectors, i.e.,  

$$A|e_{i}\rangle = \Re|e_{i}\rangle$$
On a general vector  $|\psi\rangle = \sum_{j} e_{j}|e_{j}\rangle$  we have  

$$\Re|z_{j}\rangle = \Re(\sum_{j} e_{j}|e_{j}\rangle) = \sum_{j} e_{j}^{*} \Re|e_{j}\rangle = \sum_{j} e_{j}^{*} \Lambda|e_{j}\rangle = \Lambda(\sum_{j} e_{j}^{*}|e_{j}\rangle) = \Lambda(2|\psi\rangle)$$

$$\Rightarrow \Re = \Lambda C$$

$$C|\psi\rangle$$

$$Complex conjugation
$$Complex conjugation
$$R = \Lambda C$$

$$Complex conjugation
$$C(\varphi|\psi|)(\Psi|\psi\rangle) = \langle \psi|(\Psi|\psi|)^{2} = \langle \psi|\psi\rangle^{2} = \langle \psi|\psi\rangle^{2}$$

$$Complex conjugation
$$Complex conjugation
$$Complex conjugation
$$R = \Lambda C$$

$$Complex conjugation
$$R = \Lambda C$$

$$Complex conjugation
$$Complex conjugation
$$R = \Lambda C$$

$$Complex conjugation
$$Complex conjugation
$$R = \Lambda C$$

$$Complex c$$

Ð

 $H = \frac{\vec{P}^2}{2m} + V(\vec{R})$ ,  $(\vec{R}) + (\vec{R}) = H + (\vec{R})$ 

Return to this when we discuss discrete symmetries.

3 Unitaries preserve commutators [utau, ut Bu]= ut [A,B] U Unitary symmetries Let U be a symmetry operation States: U/2/>= 12/2'> is the state that results from applying the (active) symmetry operation to system in state 12. Operators (observables): < 24' | A | 24' > = < 2+ (UAU) 24) UTAU = A' is the operator that results from applying the (active) symmetry operation to system The expectation value < \$1/A12> is the physical quantity that changes under the active transformation to <24/A/242/2624/1242 One can attribute this to a change of state (12/2) -> 12/2') or to a change of operator  $(A \rightarrow A')$ , but not both. Passive transformations: writary basis changes. A is symmetric (invariant) under the transformation U if <241 A' 242 = <24' ) A 24' > = <241 A 24' > for all 14'. A'= U<sup>t</sup>AU= A jie, [U,A]=0 Often write  $U = e^{ih}$  [h,A] = 0 Conservation law: If the system Hamiltonian H is symmetric under U=e<sup>ih</sup>, then [U,H]=0=[h,H]. h is conserved: i d<h = <[h H]>= 0 or HP

- h is conserved:  $i \frac{dt}{dt} = \langle Lh^{R}, H \rfloor \rangle = 0$  or in h and H have simultaneous eigenstates. If  $H|E\rangle = E|E\rangle$  then  $H|U|E\rangle = UH|E\rangle = E|U|E\rangle$ ; i.e.,  $U|E\rangle$  is an eigenvector of H with eigenvalue E.
- Symmetry groups: Examples

(a)  
(a)  
(b) Perity for a single particle: 
$$G = \{I, T\}$$
  
 $T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > \rightarrow T | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > = | T > =$ 

Generators: X; 
$$F_k$$
 Lie algebra:  $[F_{ij}, X_k] = 0$   
 $[X_{ij}, F_k] = ith_{ik}$   
(Constantion group:  $J = \{F_{ik}(u) = exp(-\frac{i}{5}auv)\}$   
 $F_{ik}(u) \overrightarrow{F}_{ik}(u) = R \overrightarrow{J} = \sum_{i,j,k} \overline{e_i} (ijk) \overrightarrow{F}_{ik}(u) = R \overrightarrow{J} = \sum_{i,j,k} \overline{e_j} (ijk) \overrightarrow{F}_{ik}(u) = R \overrightarrow{F} = \sum_{i,j,k} (ijk) \overrightarrow{F} = \sum_{i,j,k} (ijk$ 

This also applies to position and momentum translations because they are commutative, and to discrete groups and to discrete, continuous hybrids,

$$d=1 \qquad \begin{pmatrix} d=1 & d=1 & d=3 & d=3 & d=3 & n_{d} \text{ is the } \# \text{ of } d \text{ integs} \\ D^{(1)} & O & O & O \\ d=1 & O & D^{(1)} & O & O & O \\ d=2 & O & O & D^{(2)} & O & O \\ d=3 & O & O & D^{(2)} & O \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & O & D^{(3)} \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O \\ d=3 & O & O & O & O & O & O \\ d=3 & O & O &$$

⊛

Discrete symmetries: Much the same can be said of discrete symmetries, but we usually tack them onto other considerations.

$$[TT, H] = 0 \implies degenerate pairs that can be diagonalizedto be parity eigenstates.$$

Time-reverse) invariance:

[@, H] = 0 ⇒ Enorgy Bigenstates are real or degenorate, Complex cojugate pairs that can be diagonalized to be real.

## Appendix to Lecture 9

1. A linear operator A is specified by giving the "sandwiches"  $\langle \psi | A | \psi \rangle$  for all normalized vectors  $|\psi\rangle$ .

Proof: A linear operator A is specified by its matrix elements,  $A_{jk} \equiv \langle e_j | A | e_k \rangle$ , in an orthonormal basis  $|e_j\rangle$ , i.e.,

$$A = \sum_{j,k} A_{jk} |e_j\rangle \langle e_k| .$$
<sup>(1)</sup>

Clearly the diagonal elements,  $A_{jj}$ , are sandwiches. For the off-diagonal element  $A_{jk}$ , define the normalized vectors  $|f_{jk}\rangle \equiv (|e_j\rangle + |e_k\rangle)/\sqrt{2}$  and  $|g_{jk}\rangle \equiv (|e_j\rangle + i|e_k\rangle)/\sqrt{2}$ . This gives

$$\langle f_{jk} | A | f_{jk} \rangle = \frac{1}{2} (A_{jj} + A_{kk} + A_{jk} + A_{kj}) ,$$
  
$$\langle g_{jk} | A | g_{jk} \rangle = \frac{1}{2} (A_{jj} + A_{kk} + iA_{jk} - iA_{kj}) ,$$

so we have

$$A_{jk} = \langle f_{jk} | A | f_{jk} \rangle - i \langle g_{jk} | A | g_{jk} \rangle - \frac{1-i}{2} \left( \langle e_j | A | e_j \rangle + \langle e_k | A | e_k \rangle \right);$$

i.e., the off-diagonal elements are also given by sandwiches.

Note: This property does not hold in a real vector space. In a real vector space, an antisymmetric operator is one that satisfies  $\langle e_j | A | e_k \rangle = -\langle e_k | A | e_j \rangle$  in some orthonormal basis. This implies that  $\langle \phi | A | \psi \rangle = -\langle \psi | A | \phi \rangle$  for all vectors  $|\psi\rangle$  and  $|\phi\rangle$ . An antisymmetric operator thus has all sandwiches equal to zero. This means that in the proof above, we had to use complex numbers in an essential way, and it is not hard to see where this occurred.

2. A vector  $|\psi\rangle$  is specified up to an overall phase by giving  $|\langle \phi | \psi \rangle|$  for all normalized vectors  $|\phi\rangle$ .

Proof: A vector is specified by its amplitudes in an orthonormal basis, i.e.,

$$|\psi\rangle = \sum_{j} c_{j} |e_{j}\rangle \;.$$

The absolute values of the amplitudes are given directly by  $a_j \equiv |c_j| = |\langle e_j |\psi \rangle|$ , so the only question is how to specify the phase in  $c_j = a_j e^{i\alpha_j}$  whenever  $a_j \neq 0$ . If all the  $a_j$ 's are zero, then  $|\psi\rangle = 0$ . Otherwise, at least one of the  $c_j$ 's is nonzero; relabel the basis vectors, if necessary, to make  $c_1$  nonzero. Make  $c_1 = a_1$  real by using the overall phase freedom to rephase  $|\psi\rangle$ .

Now consider the vectors  $|f_{j,\pm}\rangle \equiv (|e_1\rangle \pm |e_j\rangle)/\sqrt{2}$  for  $j \neq 1$ . We have

$$|\langle f_{j,\pm}|\psi\rangle| = \frac{1}{\sqrt{2}} |a_1 \pm a_j e^{i\alpha_j}| = \sqrt{\frac{a_1^2 + a_j^2 \pm 2a_1 a_j \cos \alpha_j}{2}}$$

Whenever  $a_j \neq 0$ , these two quantities determine  $\alpha_j$ , so we're finished.

Note: The method of proof makes clear that this property also holds in a real vector space, where the phases can only be  $\pm 1$ .

3. A linear operator A is specified up to an overall phase by giving  $|\langle \phi | A | \psi \rangle|$  for all normalized vectors  $|\phi\rangle$  and  $|\psi\rangle$ .

Proof: A linear operator is specified by its matrix elements in an orthonormal basis, as in Eq. (1) above. The absolute values of the matrix elements are given directly by  $a_{j[} \equiv |A_{jk}| = |\langle e_j | A | e_k \rangle|$ , so the only question is how to specify the phase in  $A_{jl} = a_{jk} e^{i\alpha_{jk}}$ whenever  $a_{jk} \neq 0$ . If all the  $a_{jk}$ 's are zero, then A = 0. Otherwise, at least one of the  $A_{jk}$ 's is nonzero; relabel the basis vectors, if necessary, to make at least one element of the first row, say,  $A_{1K}$  nonzero. Make  $A_{1K} = a_{1K}$  real ( $\alpha_{1K} = 0$  by using the overall phase freedom to rephase A.

Now consider the vectors  $|f_{j,\pm}\rangle \equiv (|e_1\rangle \pm |e_j\rangle)/\sqrt{2}$  for  $j \neq 1$  and  $|g_{k,\pm}\rangle \equiv (|e_K\rangle \pm |e_k\rangle)/\sqrt{2}$  for  $k \neq K$ . We have

$$\begin{aligned} |\langle f_{j,\pm}|A|e_k\rangle| &= \frac{1}{\sqrt{2}} \Big| a_{1k} e^{i\alpha_{1k}} \pm a_{jk} e^{i\alpha_{jk}} \Big| = \frac{1}{\sqrt{2}} \Big| a_{1k} \pm a_{jk} e^{i(\alpha_{jk} - \alpha_{1k})} \Big| ,\\ |\langle e_j|A|g_{k,\pm}\rangle| &= \frac{1}{\sqrt{2}} \Big| a_{jK} e^{i\alpha_{jK}} \pm a_{jk} e^{i\alpha_{jk}} \Big| = \frac{1}{\sqrt{2}} \Big| a_{jK} \pm a_{jk} e^{i(\alpha_{jk} - \alpha_{jK})} \Big| .\end{aligned}$$

In the upper equation, first choose k = K, so that  $\alpha_{1K} = 0$ ; this equation then determines  $\alpha_{jK}$  for  $j \neq 1$ . In the lower equation, first choose j = 1, so that  $\alpha_{1K} = 0$ ; this equation then determines  $\alpha_{1k}$  for  $k \neq K$ . This done, either equation determines  $\alpha_{jk}$  for  $j \neq 1$  and  $k \neq K$ , so we're finished.

Note: Again the method of proof makes it clear that this property holds in real vector spaces.

4. Wigner's theorem. Let  $\mathcal{M} : |\psi\rangle \to \mathcal{M}(|\psi\rangle) \equiv |\psi'\rangle$  be a map from normalized vectors to normalized vectors that satisfies

$$|\langle \phi' | \psi' \rangle| = |\langle \phi | \psi \rangle|$$

for all normalized vectors  $|\psi\rangle$  and  $|\phi\rangle$ . There exists a unitary or antiunitary map U (defined on all of Hilbert space) that agrees with  $\mathcal{M}$  up to a phase, i.e.,  $U|\psi\rangle = e^{i\alpha(|\psi\rangle)}\mathcal{M}(|\psi\rangle)$ .

Proof: Proof in Messiah-II XV.2, but I would like to make it more convincing and simpler.